Hearing Date and Time: September 26, 2011 at 9:45 a.m. (Eastern Time) Objection Date and Time: September 12, 2011 at 4:00 p.m. (Eastern Time)

Harvey R. Miller
Stephen Karotkin
Joseph H. Smolinsky
WEIL, GOTSHAL & MANGES LLP
767 Fifth Avenue
New York, New York 10153

Telephone: (212) 310-8000 Facsimile: (212) 310-8007

Attorneys for Debtors and Post-Effective Date Debtors

## UNITED STATES BANKRUPTCY COURT SOUTHERN DISTRICT OF NEW YORK

-----x

In re : Chapter 11 Case No.

MOTORS LIQUIDATION COMPANY, et al., : 09-50026 (REG)

f/k/a General Motors Corp., et al.

:

Debtors. : (Jointly Administered)

-----X

NOTICE OF SUPPLEMENT TO FIFTH AND FINAL APPLICATION OF WEIL, GOTSHAL & MANGES LLP, AS ATTORNEYS FOR THE DEBTORS, FOR FINAL ALLOWANCE OF COMPENSATION FOR PROFESSIONAL SERVICES RENDERED AND REIMBURSEMENT OF ACTUAL AND NECESSARY EXPENSES INCURRED DURING (I) THE FIFTH INTERIM COMPENSATION PERIOD OF OCTOBER 1, 2010 THROUGH MARCH 29, 2011, AND (II) THE TOTAL COMPENSATION PERIOD OF JUNE 1, 2009 THROUGH MARCH 29, 2011

**PLEASE TAKE NOTICE** that the Fifth and Final Application of Weil, Gotshal & Manges LLP, as Attorneys for the Debtors, for Final Allowance of Compessation for Professional Services Rendered and Reimbursement of Actual and Necessary Expenses Incurred During (I) the Fifth Interim Compensation Period of October 1, 2010 through March 29, 2011, and (II) the Total Compensation Period of June 1, 2009 through March 29, 2011 (the "**Application**") (ECF No. 10270) is supplemented with the revised summary sheet attached hereto (the "**Revised Summary Sheet**").

PLEASE TAKE FURTHER NOTICE that, as reflected on the Revised

Summary Sheet, due to the voluntary removal by WGM<sup>1</sup> of certain time entries by persons

billing less than an hour and certain minor adjustments in charged expenses, (i) the fees incurred

during the Fifth Interim Compensation Period and the Total Compensation Period by WGM are

reduced to \$9,205,855.50 and \$44,719,081.80, respectively, and (ii) the expenses incurred during

the Fifth Interim Compensation Period and the Total Compensation Period by WGM is increased

to \$280,933.67 and \$1,476,502.19, respectively.

Dated: New York, New York

August 8, 2011

/s/ Joseph H. Smolinsky

Harvey R. Miller

Stephen Karotkin

Joseph H. Smolinsky

WEIL, GOTSHAL & MANGES LLP

767 Fifth Avenue

New York, New York 10153

Telephone: (212) 310-8000

Facsimile: (212) 310-8007

Attorneys for Debtors

and Post-Effective Date Debtors

Capitalized terms used herein and not otherwise defined herein shall have the meanings ascribed to such terms in the Application.

2

## REVISED SUMMARY SHEET PURSUANT TO UNITED STATES TRUSTEE GUIDELINES FOR REVIEWING APPLICATIONS FOR COMPENSATION AND REIMBURSEMENT OF EXPENSES FILED UNDER 11 U.S.C. § 330

Name of Applicant:	Weil, Gotshal & Manges LLP
	,
<b>Interim Time Period:</b>	October 1, 2010 through and including March 29, 2011
T . 1 T	7 4 2000 1 1 1 1 1 1 1 2 2 2011
Total Time Period:	June 1, 2009 through and including March 29, 2011
Role in the Case:	Attorneys for the Debtors
Role in the Case.	Attorneys for the Bestons
<b>Current Application:</b>	Interim Fees Incurred: \$9,205,855.50
	Interim Expenses Incurred: \$280,933.67
	T . 1 T
	Total Fees Incurred: \$44,719,081.80
	Total Expenses Incurred: \$1,476,502.19
Prior Applications:	First Interim Fee Application, filed January 13, 2010 (ECF No. 4803) for the period June 1, 2009 through and including September 30, 2009  Total Fees & Expenses Requested: \$18,506,169.92  Total Fees & Expenses Allowed: \$18,236,706.92  Second Interim Fee Application, filed March 17, 2010 (ECF No. 5295), for the period October 1, 2009 through and including January 31, 2010  Total Fees & Expenses Requested: \$6,302,627.06  Total Fees & Expenses Allowed: \$6,181,559.86  Third Interim Fee Application, filed August 5, 2010 (ECF No. 6554), for the period February 1, 2010 through and including May 31, 2010  Total Fees & Expenses Requested: \$5,457,612.27  Total Fees & Expenses Allowed: \$5,295,560.34  Fourth Interim Fee Application, filed November 15, 2010 (ECF No. 7762), for the period June 1, 2010 through and including September 30, 2010  Total Fees & Expenses Requested: \$7,036,238.66  Total Fees & Expenses Requested: \$7,036,238.66  Total Fees & Expenses Allowed: \$6,994,967.70

## SUMMARY OF SERVICES RENDERED BY WEIL, GOTSHAL & MANGES LLP FOR THE FIFTH INTERIM COMPENSATION PERIOD OF OCTOBER 1, 2010 THROUGH MARCH 29, 2011 AND THE TOTAL COMPENSATION PERIOD OF JUNE 1, 2009 THROUGH MARCH 29, 2011

NAME OF PROFESSIONAL	ESSIONAL ON AND YEAR ADMITTED <sup>2</sup> Position of the Applicant, Year of Obtaining License to Practice, Area of Expertise						terim Period 0 – March 29, 2011)	Final Compensation Period (June 1, 2009 – Mach 29, 2011)		
PERSON  PARTNERS &COUNSELS:			Hourly Billing Rate (including changes)	Total Billed Hours	Total Compensation \$	Total Billed Hours	Total Compensation			
Millstein, Ira M.	CORP	1949	\$950.00	0.00	\$0.00	7.00	\$6,650.00			
Miller, Harvey R.	BFR	1958	\$960.00 - \$990.00	16.20	\$16,038.00	671.20	\$641,386.00			
Asofsky, Paul (Counsel)	TAX	1966	\$925.00	0.00	\$0.00	0.40	\$370.00			
Jacoby, Mark A.	LR	1966	\$825.00	0.00	\$0.00	3.70	\$3,052.50			
Krasnow, Richard P.	BFR	1972	\$950.00 - \$950.00	0.00	\$0.00	0.70	\$681.00			
Berz, David R.	LR	1973	\$860.00 - \$900.00	884.20	\$795,780.00	3,679.50	\$3,252,610.00			
Hull, Gregory D.	LR	1973	\$670.00 - \$700.00	61.70	\$43,190.00	84.70	\$59,284.00			
Gold, Simeon	CORP	1974	\$925.00	0.00	\$0.00	4.50	\$4,162.50			
McCaffrey, Carlyn S.	T&E	1974	\$950.00	9.70	\$9,215.00	16.40	\$15,580.00			
Waksman, Ted S.	CORP	1974	\$925.00 - \$990.00	0.00	\$0.00	182.10	\$168,501.00			
Danilow, Greg A.	LR	1975	\$950.00	0.00	\$0.00	2.10	\$1,995.00			
Warren, Irwin H.	LR	1975	\$950.00 - \$990.00	18.90	\$18,711.00	557.20	\$531,976.00			
Comet, Howard B.	LR	1976	\$865.00	8.50	\$7,352.50	8.50	\$7,352.50			
Guy, Ray T.	LR	1976	\$850.00 - \$885.00	0.50	\$442.50	283.70	\$241,075.75			
Buhle, Warren T.	CORP	1977	\$900.00	0.00	\$0.00	1.80	\$1,620.00			
Hird, David B.	LR	1977	\$790.00 - \$845.00	124.20	\$102,963.25	396.80	\$327,760.75			
Horton, Jr., William H.	TAX	1977	\$825.00	0.00	\$0.00	1.60	\$1,320.00			
Karotkin, Stephen	BFR	1977	\$950.00 - \$990.00	358.10	\$351,153.00	1,771.70	\$1,688,069.50			
Tanenbaum, Jeffrey L.	BFR	1977	\$950.00	0.00	\$0.00	228.00	\$216,600.00			
Arvin, Maskin	LR	1978	\$925.00 - \$990.00	0.00	\$0.00	15.30	\$14,627.00			
Bernstein, Andrea	CORP	1978	\$860.00	0.00	\$0.00	24.50	\$21,070.00			
Chatzinoff, Howard	CORP	1978	\$950.00	0.00	\$0.00	6.60	\$6,270.00			

\_

<sup>&</sup>lt;sup>2</sup> BFR- Business Finance & Restructuring, CORP - Corporate, LR - Litigation/Regulatory, TAX - Tax, S - Securitisation, LS - Litigation Support, \* Not yet admitted to the bar.

NAME OF PROFESSIONAL	DEPARTMENT AND YEAR				terim Period 0 – March 29, 2011)		ompensation Period 2009 – Mach 29, 2011)
PERSON	ADMIT	TED <sup>2</sup>					
PARTNERS &COUNSELS:	Position of the Applicant, Year of Obtaining License to Practice, Area of Expertise		Hourly Billing Rate (including changes)	Total Billed Hours	Total Compensation \$	Total Billed Hours	Total Compensation
Odoner, Ellen	CORP	1978	\$990.00	0.00	\$0.00	2.50	\$2,475.00
Bower, David I.	TAX	1979	\$790.00 - \$845.00	0.00	\$0.00	9.20	\$7,554.00
Messineo, Robert L.	CORP	1979	\$925.00	0.00	\$0.00	9.70	\$8,972.50
Epstein, Michael A.	CORP	1980	\$950.00	0.00	\$0.00	16.70	\$15,865.00
Green, Frederick S.	CORP	1980	\$950.00	0.00	\$0.00	0.80	\$760.00
Sipple, John M.(Counsel)	LR	1980	\$740.00 - \$775.00	0.00	\$0.00	48.00	\$35,558.50
Francies, Mike (London Office)	CORP	1981	\$1,000.00	0.00	\$0.00	32.80	\$32,800.00
Blanchard, Kimberly S.	TAX	1982	\$900.00 - \$950.00	0.00	\$0.00	137.70	\$124,685.00
Dixon, Catherine T.	CORP	1982	\$950.00 - \$990.00	2.80	\$2,772.00	43.20	\$42,244.00
Gietz, Raymond O.	CORP	1982	\$900.00 - \$990.00	128.90	\$127,611.00	575.80	\$535,612.50
Whittaker, Donald R. (Counsel)	CORP	1983	\$670.00	0.00	\$0.00	2.20	\$1,474.00
Baer, Lawrence J. (Counsel)	LR	1984	\$700.00 - \$720.00	0.50	\$360.00	136.70	\$96,124.00
Goldring, Stuart J.	TAX	1984	\$900.00 - \$990.00	65.50	\$64,845.00	373.10	\$350,406.00
Landau, Malcolm E.	COPR	1984	\$790.00 - \$845.00	0.00	\$0.00	12.30	\$9,739.00
Mette, Daniel J.	CORP	1984	\$825.00	0.00	\$0.00	32.90	\$27,142.50
Radin, Stephen A.	LR	1984	\$950.00	5.20	\$4,940.00	5.20	\$4,940.00
Bahlke, Conrad G.	CORP	1985	\$790.00	0.00	\$0.00	26.90	\$21,251.00
Nave, Douglas A.(London Office)	LR	1985	\$1,000.00	0.00	\$0.00	20.20	\$20,200.00
Youngman, Stephen A.	BFR	1985	\$845.00	0.00	\$0.00	0.40	\$338.00
Zalenski, Walter E.	LR	1985	\$790.00	0.00	\$0.00	12.00	\$9,480.00
Bloch, Matthew	CORP	1986	\$850.00	0.00	\$0.00	1.30	\$1,105.00
Norwood, Andrew N.(London Office)	S	1986	\$1,000.00	0.00	\$0.00	3.60	\$3,600.00
Schmidt, Gerhard (Munich Office)	CORP	1986	\$1,000.00	0.00	\$0.00	3.50	\$3,500.00
Ballack, Karen N.	CORP	1987	\$810.00	0.00	\$0.00	3.00	\$2,430.00
Gregory, Holly J.	CORP	1987	\$810.00 - \$885.00	0.00	\$0.00	30.20	\$25,729.50
Kam, Michael K.	TAX	1987	\$875.00 - \$900.00	4.90	\$4,410.00	95.20	\$84,082.50

NAME OF PROFESSIONAL					terim Period 0 – March 29, 2011)	Final Compensation Period (June 1, 2009 – Mach 29, 2011)		
PERSON	ADMIT	TED <sup>2</sup>						
PARTNERS &COUNSELS:	Position of the Applicant, Year of Obtaining License to Practice, Area of Expertise		Hourly Billing Rate (including changes)	Total Billed Hours	Total Compensation \$	Total Billed Hours	Total Compensation	
Lefkowitz, David S.	CORP	1987	\$950.00 - \$990.00	2.50	\$2,475.00	102.30	\$99,269.00	
Peck, Steven M.	CORP	1987	\$790.00	0.00	\$0.00	23.70	\$18,723.00	
Connolly, Annemargaret	CORP	1988	\$790.00 - \$845.00	0.00	\$0.00	49.30	\$39,277.00	
Dederick, David S. (Budapest Office)	CORP	1988	\$515.00	0.00	\$0.00	7.50	\$3,862.50	
Grauke, Britta (Frankfurt Office)	LR	1988	\$835.00	0.00	\$0.00	9.20	\$7,682.00	
Shim, Soo-Jin	CORP	1988	\$725.00 - \$780.00	4.00	\$3,120.00	388.50	\$281,910.00	
Smolinsky, Joseph H.	BFR	1989	\$825.00 - \$900.00	610.70	\$541,395.00	2,470.80	\$2,127,911.25	
Zylberberg, Samuel M.	CORP	1988	\$790.00	0.00	\$0.00	3.80	\$3,002.00	
Dedyo, John J.	CORP	1989	\$850.00 - \$900.00	0.00	\$0.00	21.20	\$18,030.00	
Feltham, Timothy S.	TAX	1989	\$720.00	0.00	\$0.00	1.00	\$720.00	
Ferrillo, Paul A. (Counsel)	LR	1989	\$700.00	0.00	\$0.00	158.70	\$111,090.00	
Nocco, Frank P.	CORP	1989	\$875.00	0.00	\$0.00	0.50	\$437.50	
Pappas, Nicholas J.	LR	1989	\$845.00	0.00	\$0.00	1.00	\$845.00	
Reid, Penny P.	LR	1989	\$850.00	0.00	\$0.00	42.30	\$35,955.00	
Cox, Christopher	LR	1990	\$845.00	0.00	\$0.00	3.30	\$2,788.50	
Dicker, Howard B.	CORP	1990	\$850.00 - \$925.00	0.00	\$0.00	6.20	\$5,367.50	
Drueke, Heiner (Frankfurt Office)	TAX	1990	\$745.00	0.00	\$0.00	5.10	\$3,799.50	
Etherton, Joanne (London Office)	TAX	1990	\$930.00 - \$990.00	0.00	\$0.00	1.50	\$1,419.00	
Fishley, Barry (London Office)	CORP	1990	\$930.00	0.00	\$0.00	3.20	\$2,976.00	
Margolis, Steven M. (Counsel)	TAX	1990	\$700.00	0.00	\$0.00	1.00	\$700.00	
Adas, Craig W.	CORP	1991	\$900.00	0.00	\$0.00	8.00	\$7,200.00	
Bernstein, Steven K.	LR	1991	\$865.00	0.00	\$0.00	27.00	\$23,355.00	
Boerst, Juergen (Frankfurst Office)	CORP	1991	\$745.00 - \$805.00	0.00	\$0.00	230.60	\$182,009.00	

NAME OF PROFESSIONAL	DEPART AND Y				terim Period 0 – March 29, 2011)		Final Compensation Period (June 1, 2009 – Mach 29, 2011)		
PERSON  PARTNERS &COUNSELS:	ADMITTED <sup>2</sup> Position of the Applicant, Year of Obtaining License to Practice, Area of Expertise		Hourly Billing Rate (including changes)	Total Billed Hours	Total Compensation \$	Total Billed Hours	Total Compensation		
Grauke, Stephan K.(Frankfurst Office)	CORP	1991	\$805.00 - \$835.00	0.00	\$0.00	68.90	\$55,515.50		
Himelfarb, P. J.	CORP	1991	\$725.00 - \$780.00	0.00	\$0.00	1.10	\$825.00		
Kelly, Jacky (London Office)	S	1991	\$1,000.00	0.00	\$0.00	3.70	\$3,700.00		
O'Toole, Jr., Patrick J. (Counsel)	LR	1991	\$650.00	0.00	\$0.00	0.70	\$455.00		
Chivers, Corey	CORP	1992	\$850.00 - \$900.00	0.00	\$0.00	3.50	\$3,005.00		
Daudier de Cassini, Jean- Dominique	BFR	1992	\$945.00	0.00	\$0.00	1.80	\$1,701.00		
Meises, Michele J. (Counsel)	BFR	1992	\$650.00 - \$700.00	1062.50	\$731,710.00	3,620.40	\$2,452,665.00		
Beagles, Vance L.	LR	1993	\$790.00 - \$885.00	228.20	\$180,534.25	747.80	\$592,552.00		
Chandler, Todd R.	CORP	1993	\$790.00 - \$845.00	0.00	\$0.00	54.30	\$42,974.00		
Miller, Rodney D.	CORP	1993	\$810.00	0.00	\$0.00	0.30	\$243.00		
Strochak, Adam P.	BFR	1993	\$790.00	0.00	\$0.00	0.50	\$395.00		
Azcuy-Diaz, Beatriz	CORP	1994	\$725.00	0.00	\$0.00	147.00	\$106,575.00		
Cole, James (London Office)	CORP	1994	\$970.00 - \$1,000.00	0.00	\$0.00	19.00	\$18,505.00		
Ginsburg, Richard A.	CORP	1994	\$790.00	0.00	\$0.00	193.70	\$153,023.00		
Kirschner, Elyse G.	T&E	1994	\$740.00	0.00	\$0.00	1.30	\$962.00		
Priestley, Sarah (London Office)	TAX	1994	\$1,000.00	0.00	\$0.00	0.50	\$500.00		
Tsekerides, Theodore E.	LR	1994	\$740.00	4.90	\$3,626.00	4.90	\$3,626.00		
Bale, Morgan	CORP	1995	\$760.00	0.00	\$0.00	0.90	\$684.00		
Baudry d'Asson (de), Arthur (Paris Office)	CORP	1996	\$945.00	2.50	\$2,362.50	9.00	\$8,505.00		
Druon, Philippe (Paris Office)	BFR	1996	\$910.00 - \$945.00	19.50	\$18,427.50	438.90	\$412,366.50		
O'Loughlin, Jr., John B. (counsel)	LR	1996	\$650.00 - \$700.00	10.10	\$7,070.00	58.10	\$38,675.00		
Osterman, Jeffrey D.	CORP	1996	\$790.00 - \$845.00	0.00	\$0.00	143.50	\$114,289.00		
Sullivan, Kevin J.	CORP	1996	\$725.00	0.00	\$0.00	0.30	\$217.50		
Albanese, Anthony J.	LR	1997	\$760.00 - \$820.00	30.60	\$25,092.00	125.00	\$98,024.00		
Neuwirth, John A.	LR	1997	\$760.00 - \$820.00	0.00	\$0.00	280.50	\$213,276.00		
Zambrano, Angela C.	LR	1997	\$725.00 - \$780.00	249.80	\$189,111.00	626.80	\$475,720.50		

NAME OF PROFESSIONAL	DEPART AND Y				terim Period 0 – March 29, 2011)		ompensation Period 2009 – Mach 29, 2011)
PERSON  PARTNERS &COUNSELS:	AND TEAK ADMITTED <sup>2</sup> Position of the Applicant, Year of Obtaining License to Practice, Area of Expertise		Hourly Billing Rate (including changes)	Total Billed Hours	Total Compensation \$	Total Billed Hours	Total Compensation
Zawadowski, Artur (Warsaw Office)	CORP	1997	\$645.00 - \$695.00	0.00	\$0.00	11.70	\$7,856.50
Marks, Benjamin E.	LR	1998	\$725.00	0.00	\$0.00	2.90	\$2,102.50
Ferla, Romain (Paris Office)	LR	1999	\$725.00	0.00	\$0.00	6.00	\$4,350.00
Waldbaum, Brian A.					, , , , ,		, ,
(Counsel)	CORP	1999	\$650.00	0.00	\$0.00	29.50	\$19,175.00
Bronson, Ardith (Counsel)	LR	2000	\$650.00	0.00	\$0.00	73.20	\$47,580.00
Do, Danielle D.	CORP	2000	\$725.00	0.00	\$0.00	37.40	\$27,115.00
Hartmann, Michelle L.	LR	2001	\$695.00	89.60	\$64,960.00	89.60	\$64,960.00
Lemons, Robert J.	BFR	2001	\$725.00	0.00	\$0.00	192.60	\$139,635.00
Ramsay, Stanley	TAX	2001	\$700.00	0.00	\$0.00	1.00	\$700.00
Berkovich, Ronit J.	BFR	2002	\$725.00	7.60	\$3,915.00	125.30	\$87,036.25
Burshtine, Ram	CORP	2002	\$700.00	0.00	\$0.00	5.50	\$3,850.00
Tarbert, Heath (Counsel)	CORP	2003	\$700.00	0.00	\$0.00	0.70	\$490.00
Zak, Lukasz (Counsel) (Warsaw Office)	LR	2003	\$490.00	0.00	\$0.00	8.10	\$3,969.00
<b>Total Partners &amp; Counsels:</b>				4012.30	\$3,323,581.50	20,284.70	\$16,866,208.50

NAME OF PROFESSIONAL PERSON		MENT AND DMITTED	Hourly Billing		nterim Period 10 – March 29, 2011)		npensation Period 09 – Mach 29, 2011)
ASSOCIATES:	Position of t Year of Obta to Praction	he Applicant, aining License ce, Area of ertise	Rate (including changes and class step-ups)	Total Billed Hours	Total Compensation \$	Total Billed Hours	Total Compensation \$
Spanierman, Brooke	CORP	1988	\$540.00	0.00	\$0.00	4.90	\$2,646.00
Fortin, Isabelle (Paris Office)	LR	1989	\$580.00 - \$630.00	0.00	\$0.00	28.40	\$17,252.00
Nagar, Roshelle A.	CORP	1989	\$640.00	0.00	\$0.00	27.60	\$17,664.00
Perez, M. Angela	CORP	1989	\$475.00	0.00	\$0.00	0.70	\$332.50
Butenas, John	CORP	1991	\$600.00 - \$695.00	23.00	\$15,985.00	71.80	\$45,265.00
David, Jean-Christophe (Paris Office)	BFR	1992	\$650.00 - \$700.00	0.00	\$0.00	8.00	\$5,255.00
Smith, Leslie S.	CORP	1995	\$640.00 - \$695.00	223.90	\$155,610.50	960.70	\$644,185.00
Larson, Michelle V.	BFR	1996	\$695.00	0.00	\$0.00	0.90	\$625.50
Martialay, Elizabeth A.	CORP	1996	\$580.00	0.00	\$0.00	12.20	\$7,076.00
Parenti, Meredith	LR	1996	\$695.00	0.00	\$0.00	1.70	\$1,181.50
Parker, Christopher M.	T&E	1996	\$695.00	33.40	\$23,213.00	92.50	\$64,287.50
Adamich, JoLee	CORP	1998	\$580.00	0.00	\$0.00	125.60	\$72,848.00
Heyliger, Adelaja	CORP	1998	\$580.00 - \$665.00	0.60	\$399.00	118.80	\$78,160.50
Lánchidi, István (Budapest Office)	CORP	1998	\$430.00	0.00	\$0.00	9.00	\$3,870.00
Cooper, Bethany J.	CORP	1999	\$640.00	0.00	\$0.00	7.00	\$4,480.00
Dummer, David W.	LR	1999	\$640.00 - \$695.00	56.30	\$39,128.50	565.80	\$366,907.00
Harmjanz, Jan D. (Frankfurt Office)	CORP	1999	\$520.00	0.00	\$0.00	2.00	\$1,040.00
Jarmer, Christine T.	CORP	1999	\$630.00	0.00	\$0.00	52.30	\$32,949.00
Meyrowitz, Melissa	CORP	1999	\$640.00	0.00	\$0.00	10.40	\$6,656.00
Buchwaldt, Konrad Von (Frankfurt Office)	CORP	2000	\$485.00 - \$525.00	0.00	\$0.00	38.00	\$18,742.00
Law, Erin J.	LR	2000	\$640.00 - \$695.00	141.10	\$98,064.50	355.40	\$241,255.50
Shiffman, Jonathan	LR	2000	\$640.00 - \$695.00	3.20	\$2,224.00	267.70	\$174,782.00
Silbert, Gregory S.	LR	2000	\$695.00	0.00	\$0.00	0.10	\$69.50
Spizzichino, Lionel (Paris Office)	BFR	2000	\$690.00 - \$700.00	8.10	\$5,589.00	372.10	\$255,846.50
Tauser, Kian (Frankfurt Office)	TAX	2000	\$630.00	0.00	\$0.00	9.00	\$5,670.00
Amsel, Joshua Sanders	LR	2001	\$640.00 - \$695.00	0.00	\$0.00	439.40	\$281,287.50

NAME OF PROFESSIONAL PERSON		MENT AND DMITTED	Hourly Billing		nterim Period 10 – March 29, 2011)		mpensation Period 09 – Mach 29, 2011)
ASSOCIATES:	Year of Obta to Praction	he Applicant, nining License ce, Area of ertise	Rate (including changes and class step-ups)	Total Billed Hours	Total Compensation \$	Total Billed Hours	Total Compensation \$
Goodman, Benjamin A.	CORP	2001	\$630.00	0.00	\$0.00	3.80	\$2,394.00
Hartmann, Michelle L.	LR	2001	\$695.00	44.30	\$30,788.50	181.30	\$126,003.50
Iliescu, Amir	CORP	2001	\$580.00	0.00	\$0.00	3.10	\$1,798.00
Morrissy, Stuart	CORP	2001	\$695.00	1.20	\$834.00	1.20	\$834.00
Morton, Matthew D.	LR	2001	\$580.00 - \$685.00	445.60	\$302,832.00	1,606.20	\$1,031,527.25
Perheentupa, Ilkka I.	CORP	2001	\$580.00 - \$665.00	0.00	\$0.00	68.40	\$39,799.50
Petherbridge, Vaughan	CORP	2001	\$580.00 - \$685.00	176.40	\$119,886.00	525.20	\$341,357.50
Platkov, Margarita	LR	2001	\$580.00	0.00	\$0.00	29.80	\$17,284.00
Ruegenberg, Guido (Frankfurt Office)	CORP	2001	\$485.00 - \$525.00	0.00	\$0.00	12.80	\$6,544.00
Auchterlonie, Sarah J.	LR	2002	\$610.00 - \$685.00	0.00	\$0.00	85.10	\$53,831.00
Berkovich, Ronit	BFR	2002	\$630.00	0.00	\$0.00	1,052.30	\$662,004.00
Burshtine, Ram	CORP	2002	\$640.00	0.00	\$0.00	444.60	\$284,544.00
Fabre, Jerome (Paris Office)	LR	2002	\$650.00	0.00	\$0.00	6.80	\$4,420.00
Gandhi, Ashish D.	LR	2002	\$630.00	0.00	\$0.00	273.60	\$172,368.00
Gilbane, Eleanor H.	LR	2002	\$695.00	0.00	\$0.00	0.70	\$486.50
Hahn, Arlene A.	CORP	2002	\$640.00 - \$695.00	0.00	\$0.00	164.80	\$105,906.50
Heller, Amy E.	T&E	2002	\$610.00 - \$685.00	0.00	\$0.00	1.20	\$769.50
Kohl, Michael (Frankfurt Office)	CORP	2002	\$585.00 - \$655.00	0.00	\$0.00	153.30	\$94,679.00
Landen, Ronald A.	CORP	2002	\$640.00 - \$695.00	0.00	\$0.00	78.50	\$50,333.50
Malloy, Lavell	LR	2002	\$610.00	0.00	\$0.00	22.90	\$13,969.00
Bremer, Carmen E.	LF	2003	\$580.00 - \$685.00	24.50	\$16,630.50	99.80	\$62,769.50
Davis, Amanda L.	LR	2003	\$580.00	0.00	\$0.00	18.80	\$10,904.00
Deshpande, Pia A. (London Office)	CORP	2003	\$765.00	0.00	\$0.00	0.50	\$382.50
Eckols, Erin D.	LR	2003	\$580.00 - \$665.00	0.00	\$0.00	139.80	\$88,215.50
Frontczak, Morgan F.	LR	2003	\$630.00	0.00	\$0.00	141.30	\$89,019.00
Goslin, Thomas D.	LR	2003	\$500.00 - \$630.00	828.90	\$510,846.00	2,236.80	\$1,281,220.00
Jackson, Edward N. (London Office)	CORP	2003	\$720.00	0.00	\$0.00	5.80	\$4,176.00
Krausgrill, Björn (Frankfurt Office)	TAX	2003	\$390.00 - \$420.00	0.00	\$0.00	20.80	\$8,592.00
Mapes, Justin G.	CORP	2003	\$580.00 - \$685.00	80.30	\$55,005.50	500.80	\$303,179.50

NAME OF PROFESSIONAL		MENT AND	IIl D!!!		terim Period		npensation Period
PERSON	YEAR A	DMITTED	Hourly Billing Rate	(October 1, 201	0 – March 29, 2011)	(June 1, 20	09 – Mach 29, 2011)
A GGO CY A TIVE	Year of Obtaining License to Practice, Area of		(including changes and class step-ups)	Total Billed Hours	Total Compensation \$	Total Billed Hours	Total Compensation \$
ASSOCIATES:		ertise	<b>\$</b> < 1.0.00	0.00	Φ0.00	20.50	<b>#45.005.00</b>
Oken, Rima J.	LR	2003	\$610.00	0.00	\$0.00	29.50	\$17,995.00
Allen, Margaret H.	LR	2004	\$540.00 - \$665.00	737.40	\$471,861.25	1,612.60	\$1,002,852.25
Delaney, Edwin M.	LR	2004	\$540.00	0.00	\$0.00	66.60	\$35,964.00
Empting, Tobias (Frankfurt Office)	CORP	2004	\$390.00 - \$420.00	0.00	\$0.00	71.70	\$30,099.00
Fennell, Gregory	CORP	2004	\$540.00	0.00	\$0.00	3.10	\$1,674.00
Firestone, Michael	LR	2004	\$580.00	0.00	\$0.00	17.30	\$10,034.00
Ghilini, Lelia (Paris Office)	CORP	2004	\$690.00	0.00	\$0.00	6.50	\$4,485.00
Goodman, Max A.	TAX	2004	\$580.00 - \$685.00	72.60	\$49,137.00	526.20	\$329,556.50
Greifeneder, Stefanie (Munich Office)	LR	2004	\$470.00	0.00	\$0.00	10.30	\$4,841.00
Herman, Michelle F.	CORP	2004	\$580.00	0.00	\$0.00	34.20	\$19,836.00
Karl, Jeannie	CORP	2004	\$540.00	0.00	\$0.00	10.20	\$5,508.00
Konig, Robert	CORP	2004	\$500.00	0.00	\$0.00	30.80	\$15,400.00
Kotcher, Liani G.	LR	2004	\$315.00 - \$665.00	173.60	\$106,270.50	944.50	\$591,469.50
Neugebauer, Christian Timm (Frankfurt Office)	BFR	2004	\$510.00	0.00	\$0.00	0.60	\$306.00
Pau, Lauren	CORP	2004	\$675.00	0.00	\$0.00	9.10	\$6,142.50
Schroeder, Friederike (Frankfurt Office)	CORP	2004	\$355.00 - \$400.00	0.00	\$0.00	99.60	\$37,488.00
Solow, Heather R.	LR	2004	\$580.00	0.00	\$0.00	33.20	\$19,256.00
Stewart, Benjamin L.	LR	2004	\$500.00 - \$595.00	0.00	\$0.00	80.70	\$41,851.00
Vron, Victoria	BFR	2004	\$540.00 - \$665.00	1.50	\$997.50	99.80	\$54,205.50
Walker, Oliver D. (London Office)	TAX	2004	\$715.00	0.00	\$0.00	3.30	\$2,359.50
Westerman, Gavin	CORP	2004	\$580.00	0.00	\$0.00	31.50	\$18,270.00
Wright, Miles J.	LR	2004	\$630.00	2.20	\$1,386.00	6.70	\$4,221.00
Bailhache, Geoffrey WJ. (London Office)	CORP	2005	\$620.00 - \$660.00	0.00	\$0.00	57.90	\$36,254.00
Blanchard, Aimee N.	LR	2005	\$250.00 - \$500.00	0.00	\$0.00	275.30	\$135,525.00
Blevin, John W.	CORP	2005	\$630.00	0.00	\$0.00	19.60	\$12,348.00
Breidenbach, Michael	TAX	2005	\$500.00	0.00	\$0.00	34.30	\$17,150.00
Comer, Samuel J.	CORP	2005	\$540.00	0.00	\$0.00	12.50	\$6,750.00
Fabre, Elodie (Paris Office)	BFR	2005	\$655.00	0.00	\$0.00	5.00	\$3,275.00

NAME OF PROFESSIONAL PERSON		MENT AND DMITTED	Hourly Billing		terim Period 10 – March 29, 2011)		npensation Period 09 – Mach 29, 2011)
ASSOCIATES:	Year of Obtate to Practi	the Applicant, aining License ce, Area of pertise	Rate (including changes and class step-ups)	Total Billed Hours	Total Compensation \$	Total Billed Hours	Total Compensation \$
Grapsas, Rebecca	CORP	2005	\$540.00	0.00	\$0.00	0.20	\$108.00
Han, Jin Woo	LR	2005	\$630.00	0.00	\$0.00	5.80	\$3,654.00
Ho, Jill Jane	LR	2005	\$630.00	0.00	\$0.00	0.50	\$315.00
Imam, Anwar	LR	2005	\$500.00	0.00	\$0.00	44.30	\$22,150.00
Jacobs, Barry A.	CORP	2005	\$270.00 - \$540.00	0.00	\$0.00	138.10	\$73,359.00
Kim, Hyun K.	CORP	2005	\$540.00 - \$630.00	0.00	\$0.00	24.20	\$13,185.00
Laengin, Kerstin (Frankfurt Office)	CORP	2005	\$485.00	0.00	\$0.00	1.50	\$727.50
Lederman, Evan S.	BFR	2005	\$500.00 - \$595.00	288.30	\$166,629.75	2,787.20	\$1,508,077.75
Lichter, Jason	LR	2005	\$540.00	0.00	\$0.00	25.90	\$13,986.00
Maletic, Michael T.	LR	2005	\$500.00	0.00	\$0.00	35.60	\$17,800.00
Meade, Kevin F.	LR	2005	\$540.00	0.00	\$0.00	15.30	\$8,262.00
Morneau, Jeff M.	CORP	2005	\$540.00 - \$630.00	0.00	\$0.00	300.90	\$162,603.00
Ostroff, Eric W.	LR	2005	\$540.00	0.00	\$0.00	63.50	\$34,290.00
Protzmann, Laura J.	LR	2005	\$540.00	0.00	\$0.00	20.40	\$11,016.00
Razavilar, Pejman	CORP	2005	\$580.00	0.00	\$0.00	31.80	\$18,444.00
Roesch, Robert C.	LR	2005	\$500.00	0.00	\$0.00	30.00	\$15,000.00
Taylor, Amber D.	LR	2005	\$500.00	0.00	\$0.00	64.70	\$32,350.00
Woller, Scott D.	LR	2005	\$540.00	0.00	\$0.00	58.90	\$31,806.00
Woodworth, Andrew J.	CORP	2005	\$540.00	0.00	\$0.00	27.60	\$14,904.00
Bayles, Seth A.	LR	2006	\$500.00	0.00	\$0.00	224.40	\$112,200.00
Chandis, Vanessa	LR	2006	\$465.00	0.00	\$0.00	108.50	\$50,452.50
Chapman, Hillary G.	LR	2006	\$465.00	0.00	\$0.00	49.20	\$22,878.00
Compagna, Brian	LR	2006	\$465.00	0.00	\$0.00	88.40	\$41,106.00
Fassam, Jae (London Office)	TAX	2006	\$560.00 - \$660.00	0.00	\$0.00	2.70	\$1,682.00
Gold, Emily L.	CORP	2006	\$630.00	6.70	\$4,221.00	6.70	\$4,221.00
Hoelzer, Lauren	LR	2006	\$465.00	0.00	\$0.00	3.70	\$1,720.50
Jojart, Biborka (Budapest Office)	CORP	2006	\$260.00	0.00	\$0.00	0.50	\$130.00
Kaplan, Jaime S.	LR	2006	\$500.00	0.00	\$0.00	100.10	\$50,050.00
Kulawik, Tomasz	CORP	2006	\$355.00 - \$455.00	0.00	\$0.00	107.30	\$38,451.50
Levine, Alexander	LR	2006	\$500.00	0.00	\$0.00	112.00	\$56,000.00
Magno, Georgia	LR	2006	\$540.00	0.00	\$0.00	131.30	\$70,902.00

NAME OF PROFESSIONAL PERSON		MENT AND DMITTED	Hourly Billing		terim Period 10 – March 29, 2011)		npensation Period 09 – Mach 29, 2011)
ASSOCIATES:	Position of the Applicant, Year of Obtaining License to Practice, Area of Expertise		Rate (including changes and class step-ups)	Total Billed Hours	Total Compensation \$	Total Billed Hours	Total Compensation \$
Majid, Saima	BFR	2006	\$500.00	0.00	\$0.00	2.50	\$1,250.00
Ng, Alexander W.	LR	2006	\$500.00	0.00	\$0.00	48.20	\$24,100.00
Noury, Anne-Sophie (Paris Office)	BFR	2006	\$525.00 - \$615.00	20.60	\$12,669.00	230.30	\$130,933.50
O'Connell, Dean W. (London Office)	LR	2006	\$560.00	0.00	\$0.00	19.80	\$11,088.00
Pellafone, Ricardo P.	LR	2006	\$465.00	0.00	\$0.00	48.90	\$22,738.50
Rosenthal, Danielle	LR	2006	\$500.00	0.00	\$0.00	13.30	\$6,650.00
Sadlak, Kristina A	LR	2006	\$465.00	0.00	\$0.00	16.40	\$7,626.00
Seltzer, Steven	CORP	2006	\$465.00	0.00	\$0.00	50.50	\$23,482.50
Spencer, Danitra T.	LR	2006	\$540.00	0.00	\$0.00	51.60	\$27,864.00
Vermeille, Sophie (Paris Office)	CORP	2006	\$485.00 - \$525.00	0.00	\$0.00	11.00	\$5,495.00
White, Sean (London Office)	CORP	2006	\$620.00 - \$660.00	0.00	\$0.00	81.70	\$51,650.00
York, Bryant S.	LR	2006	\$630.00	57.10	\$35,973.00	57.10	\$35,973.00
Baldwin, Kristin L.	LR	2007	\$465.00	0.00	\$0.00	23.60	\$10,974.00
Bosshard-Blackey, Elizabeth	LR	2007	\$415.00	0.00	\$0.00	71.50	\$29,672.50
Carter, Starlett A.	CORP	2007	\$465.00	0.00	\$0.00	69.70	\$32,410.50
Christensen, Evert J.	LR	2007	\$415.00 - \$515.00	0.00	\$0.00	471.60	\$198,904.00
Decker, Sarah M.	LR	2007	\$465.00 - \$595.00	523.40	\$304,376.00	931.60	\$522,689.50
Gelfand, Joshua S.	TAX	2007	\$355.00	0.00	\$0.00	2.50	\$887.50
Grabill, Jeremy T.	LR	2007	\$465.00 - \$550.00	0.00	\$0.00	129.70	\$60,650.50
Griffiths, David N.	BFR	2007	\$515.00 - \$550.00	366.70	\$198,578.50	567.40	\$301,939.00
Hewitt, Penelope (London Office)	CORP	2007	\$495.00 - \$530.00	0.00	\$0.00	88.10	\$44,894.00
Jaclyn, Elisa	LR	2007	\$465.00	0.00	\$0.00	108.50	\$50,452.50
Koch, Eberhard (Frankfurt Office)	LR	2007	\$400.00	0.00	\$0.00	20.40	\$8,160.00
Kucerik, Brianne L.	LR	2007	\$465.00	0.00	\$0.00	6.30	\$2,929.50
Lehson, Alexandra	CORP	2007	\$207.50 - \$415.00	0.00	\$0.00	149.70	\$60,154.25
Nelsen, Jennifer M.	LR	2007	\$515.00	0.00	\$0.00	2.80	\$1,442.00
Obi, Emmanuel U.	CORP	2007	\$415.00	0.00	\$0.00	5.60	\$2,324.00
O'Connor, John T.	LR	2007	\$415.00 - \$550.00	21.40	\$11,038.50	478.20	\$231,400.50
Pais, Harsh	CORP	2007	\$465.00	0.00	\$0.00	498.50	\$231,802.50

NAME OF PROFESSIONAL PERSON		MENT AND DMITTED	Hourly Billing		terim Period 10 – March 29, 2011)		npensation Period 09 – Mach 29, 2011)
ASSOCIATES:	Position of the Applicant, Year of Obtaining License to Practice, Area of Expertise		Rate (including changes and class step-ups)	Total Billed Hours	Total Compensation \$	Total Billed Hours	Total Compensation \$
Pancholy, Ritu	LR	2007	\$465.00	0.00	\$0.00	91.20	\$42,408.00
Pfeiffer, Mareike (Frankfurt							
Office)	LR	2007	\$325.00	0.00	\$0.00	0.30	\$97.50
Pierce, Nathan M.	BFR	2007	\$415.00	0.00	\$0.00	576.40	\$239,206.00
Powers, Dana K.	LR	2007	\$415.00	0.00	\$0.00	28.90	\$11,993.50
Rosen, Marc B.	CORP	2007	\$465.00 - \$550.00	0.00	\$0.00	118.50	\$56,088.50
Seymour, Jennifer A.	CORP	2007	\$415.00	0.00	\$0.00	137.90	\$57,228.50
Speake, Alicia L. (London Office)	CORP	2007	\$495.00 - \$595.00	0.00	\$0.00	20.40	\$10,374.00
Tran, Diem	LR	2007	\$465.00	0.00	\$0.00	126.40	\$58,776.00
Tseng, Conray C.	BFR	2007	\$595.00	238.00	\$141,610.00	238.00	\$141,610.00
Wagener, Jackson P.	LR	2007	\$500.00	0.00	\$0.00	135.40	\$67,700.00
Weinroth, Marc	LR	2007	\$415.00	0.00	\$0.00	9.60	\$3,984.00
White, Richard L.	CORP	2007	\$415.00	0.00	\$0.00	110.70	\$45,940.50
Williams, Olanrewaju A.	CORP	2007	\$465.00	0.00	\$0.00	5.50	\$2,557.50
Wine, Jennifer L.	LR	2007	\$465.00 - \$595.00	314.20	\$179,018.50	683.90	\$363,497.00
Yuan, Jie	CORP	2007	\$465.00	0.00	\$0.00	2.30	\$1,069.50
Behrens, Layne S.R.	LR	2008	\$415.00	0.00	\$0.00	41.80	\$17,347.00
Benfield, Brianna N.	LR	2008	\$355.00 - \$515.00	549.30	\$263,740.75	2,112.30	\$890,539.00
Biernacki, Jakub	CORP	2008	\$415.00 - \$515.00	0.00	\$0.00	49.70	\$20,645.50
Bronder, Vigdis	CORP	2008	\$415.00 - \$515.00	0.00	\$0.00	104.00	\$44,320.00
Burns, Gregory C.	TAX	2008	\$465.00 - \$595.00	37.60	\$21,863.50	379.80	\$195,249.50
Burton, Casey A.	LR	2008	\$455.00	0.00	\$0.00	11.70	\$5,323.50
Coelho, Sara	BFR	2008	\$465.00 - \$550.00	0.00	\$0.00	1.40	\$685.00
Cohen, Harris	LR	2008	\$415.00	0.00	\$0.00	1.00	\$415.00
Crews, Kevin T.	CORP	2008	\$355.00	0.00	\$0.00	72.70	\$25,808.50
Davidson, Kasara E.	CORP	2008	\$415.00	0.00	\$0.00	113.30	\$47,019.50
Duffo Weinstock, David	CORP	2008	\$415.00	0.00	\$0.00	50.70	\$21,040.50
Feit, Adam J.	CORP	2008	\$355.00	0.00	\$0.00	5.00	\$1,775.00
Forlenza, Justin	CORP	2008	\$415.00 - \$515.00	0.00	\$0.00	352.90	\$147,843.50
Freda, Lucia	LR	2008	\$415.00 - \$515.00	0.00	\$0.00	68.10	\$28,811.50
Gail, David B.	CORP	2008	\$355.00	0.00	\$0.00	87.10	\$30,920.50
Hawkins, Eric C.	LR	2008	\$415.00	0.00	\$0.00	0.90	\$373.50

NAME OF PROFESSIONAL PERSON		MENT AND DMITTED	Hourly Billing		terim Period		npensation Period
PERSON	Y EAR A	DMITTED	Rate	(October 1, 201	10 – March 29, 2011)	(June 1, 20	09 – Mach 29, 2011)
	Year of Obta to Praction	he Applicant, aining License ce, Area of	(including changes and class step-ups)	Total Billed Hours	Total Compensation \$	Total Billed Hours	Total Compensation \$
ASSOCIATES:	_	ertise					
Haye, Pascaline (Paris Office)	BFR	2008	\$275.00 - \$315.00	0.00	\$0.00	72.00	\$19,840.00
Hines, Nichole	LR	2008	\$415.00 - \$515.00	0.00	\$0.00	188.60	\$78,329.00
Hoehne, Debora	BFR	2008	\$550.00	1.20	\$660.00	1.20	\$660.00
Horwitz, Maurice	BFR	2008	\$415.00	0.00	\$0.00	0.10	\$41.50
Kalayoglu, Sinan	CORP	2008	\$415.00	0.00	\$0.00	79.40	\$32,951.00
Laken, Lacey	BFR	2008	\$415.00 - \$550.00	365.50	\$192,044.50	1,953.80	\$918,559.00
Lee, June Kyung	LR	2008	\$415.00	0.00	\$0.00	12.40	\$5,146.00
Lennox, Maria N.	CORP	2008	\$455.00	0.00	\$0.00	0.90	\$409.50
Nerwal, Mavnick B. (London Office)	TAX	2008	\$440.00 - \$470.00	0.00	\$0.00	25.90	\$11,969.00
Offir, Itay	CORP	2008	\$415.00	0.00	\$0.00	51.50	\$21,372.50
Oliver, Jennifer M.	LR	2008	\$415.00	0.00	\$0.00	9.10	\$3,776.50
Pae, Joonbeom	TAX	2008	\$415.00 - \$550.00	17.70	\$9,150.50	486.00	\$224,785.00
Pathmanaban, Giriraj	LR	2008	\$415.00	0.00	\$0.00	24.40	\$10,126.00
Pruzansky, Jason	LR	2008	\$415.00 - \$515.00	0.00	\$0.00	176.00	\$74,970.00
Quinn, Georgia D.	CORP	2008	\$415.00	0.00	\$0.00	85.50	\$35,482.50
Reicher, Aliza	BFR	2008	\$550.00	242.30	\$132,852.50	242.30	\$132,852.50
Ross, Jessica S.	CORP	2008	\$415.00	0.00	\$0.00	3.00	\$1,245.00
Schmidt, Stefanie K.	BFR	2008	\$415.00 - \$550.00	5.40	\$2,970.00	19.90	\$9,327.50
Smith, Jeremy (London Office)	CORP	2008	\$440.00 - \$470.00	0.00	\$0.00	87.20	\$39,955.00
Smith, Michael C	LR	2008	\$465.00	0.00	\$0.00	31.70	\$14,740.50
Stein, Steven B.	CORP	2008	\$415.00	0.00	\$0.00	7.90	\$3,278.50
Thompson, Sunny J.	LR	2008	\$455.00	0.00	\$0.00	1.30	\$591.50
Trivedi, Sujan H.	LR	2008	\$465.00	0.00	\$0.00	99.40	\$46,221.00
Yarnall, Jessica L.	LR	2008	\$415.00	0.00	\$0.00	32.20	\$13,363.00
Arnedo, Cariza D.	LR	2009	\$395.00	8.70	\$3,436.50	8.70	\$3,436.50
Arons, Andrew	CORP	2009	\$335.00 - \$550.00	155.30	\$77,159.50	1,048.00	\$416,868.00
Astorga, Patricia	LR	2009	\$355.00	0.00	\$0.00	84.20	\$29,891.00
Baudler, Matthew	LR	2009	\$355.00	0.00	\$0.00	112.40	\$39,902.00
Bergman, Matthew D.	CORP	2009	\$355.00	0.00	\$0.00	330.50	\$117,327.50
Brown, David C.	LR	2009	\$355.00	0.00	\$0.00	5.80	\$2,059.00
Brück, Rolf (Frankfurt Office)	CORP	2009	\$350.00	0.00	\$0.00	18.20	\$6,370.00
Byeff, David P.	LR	2009	\$455.00 - \$515.00	156.10	\$77,037.50	271.50	\$129,544.50

NAME OF PROFESSIONAL PERSON		MENT AND DMITTED	Hourly Billing		terim Period 10 – March 29, 2011)		npensation Period 09 – Mach 29, 2011)
ASSOCIATES:	Year of Obta to Praction	he Applicant, aining License ce, Area of ertise	Rate (including changes and class step-ups)	Total Billed Hours	Total Compensation \$	Total Billed Hours	Total Compensation \$
Castellani, Anne K.	LR	2009	\$355.00	0.00	\$0.00	1.40	\$497.00
Cheng, Jennifer	CORP	2009	\$415.00	0.00	\$0.00	1.30	\$539.50
Chhean, Chhunny	LR	2009	\$355.00	0.00	\$0.00	18.90	\$6,709.50
Chow, Bernice	CORP	2009	\$465.00 - \$595.00	8.50	\$5,057.50	326.00	\$152,695.00
Cohen, David A.	CORP	2009	\$355.00	0.00	\$0.00	3.80	\$1,349.00
Cutting, Dionne	CORP	2009	\$415.00 - \$515.00	26.00	\$13,390.00	181.80	\$78,117.00
Depowski, Kristen Leigh	CORP	2009	\$355.00	13.20	\$6,798.00	45.90	\$18,406.50
Evans, Christopher L.	LR	2009	\$355.00 - \$395.00	0.00	\$0.00	88.70	\$31,628.50
Falabella, Pablo	BFR	2009	\$415.00 - \$550.00	903.70	\$481,031.50	3,473.90	\$1,680,782.25
Fasbender, Jordan Rachel	CORP	2009	\$355.00	0.00	\$0.00	12.80	\$4,544.00
Foley, Jared	LR	2009	\$355.00	0.00	\$0.00	103.70	\$36,813.50
Godhard, Peter	CORP	2009	\$465.00 - \$595.00	3.00	\$1,785.00	239.30	\$113,483.50
Haberman, Noam I.	CORP	2009	\$355.00	0.00	\$0.00	6.60	\$2,343.00
Hatcher, R. Todd T.	TAX	2009	\$355.00 - \$455.00	0.00	\$0.00	185.20	\$68,846.00
House, Maxine (London Office)	CORP	2009	\$280.00 - \$470.00	0.00	\$0.00	46.60	\$13,213.50
Howatt, Matthew	LR	2009	\$355.00	0.00	\$0.00	45.70	\$16,223.50
Hren, Hielen	LR	2009	\$355.00	0.00	\$0.00	123.40	\$43,807.00
James, Cheryl A.	LR	2009	\$355.00	0.00	\$0.00	26.10	\$9,265.50
Kendall, Consuelo A.	LR	2009	\$355.00	0.00	\$0.00	5.20	\$1,846.00
Khachaturian, S. Alex	LR	2009	\$415.00	0.00	\$0.00	12.70	\$5,270.50
Klein, Daniel S.	LR	2009	\$465.00 - \$515.00	35.00	\$18,025.00	178.10	\$87,166.50
Levy, Zohar Rebecca	LR	2009	\$355.00	0.00	\$0.00	10.40	\$3,692.00
Ligon, John C.	LR	2009	\$395.00	88.70	\$35,036.50	88.70	\$35,036.50
Limmer, Sam	CORP	2009	\$395.00	0.00	\$0.00	12.20	\$4,819.00
Liroff, Alexander R.	CORP	2009	\$395.00	0.00	\$0.00	19.60	\$7,742.00
Lottmann, Annelies	LR	2009	\$355.00	0.00	\$0.00	14.90	\$5,289.50
Luise, Christopher T.	LR	2009	\$355.00	0.00	\$0.00	117.50	\$41,712.50
Maczko, Vanessa L.	T&E	2009	\$455.00	0.00	\$0.00	3.90	\$1,774.50
Mayer, Stacey M.	LR	2009	\$355.00	0.00	\$0.00	15.60	\$5,538.00
McCaffrey, Meghan A	LR	2009	\$355.00	0.00	\$0.00	13.70	\$4,863.50
Meshkov, David S.	BFR	2009	\$177.50 - \$355.00	0.00	\$0.00	440.80	\$156,217.75
Meyer, Jill D.	CORP	2009	\$355.00	0.00	\$0.00	30.30	\$10,756.50

NAME OF PROFESSIONAL PERSON		MENT AND DMITTED	Hourly Billing		terim Period 10 – March 29, 2011)		npensation Period 09 – Mach 29, 2011)
ASSOCIATES:	Position of t Year of Obta to Practi	the Applicant, aining License ce, Area of pertise	Rate (including changes and class step-ups)	Total Billed Hours	Total Compensation \$	Total Billed Hours	Total Compensation \$
Morgan, Garbiel A.	BFR	2009	\$515.00	120.10	\$61,851.50	120.10	\$61,851.50
Neely, Christopher M.	LR	2009	\$515.00 - \$550.00	508.20	\$270,497.50	859.80	\$451,571.50
Newell, Ariane	LR	2009	\$415.00	0.00	\$0.00	72.90	\$30,253.50
Obaro, Bambo	LR	2009	\$395.00	61.60	\$25,052.00	177.10	\$70,674.50
Pearson, Tashanna B.	LR	2009	\$355.00	0.00	\$0.00	20.50	\$7,277.50
Pendleton, Megan	CORP	2009	\$355.00	0.00	\$0.00	98.30	\$34,896.50
Perry, Adrian	CORP	2009	\$355.00	0.00	\$0.00	20.80	\$7,384.00
Peterman, N. Damali	CORP	2009	\$355.00	0.00	\$0.00	8.80	\$3,124.00
Pyzik, Magdalena (Warsaw Office)	CORP	2009	\$335.00	0.00	\$0.00	1.00	\$335.00
Radetsky, Alex	CORP	2009	\$355.00	0.00	\$0.00	10.80	\$3,834.00
Rana, Faraz	CORP	2009	\$415.00	0.00	\$0.00	93.80	\$38,927.00
Reyes, Gabriel	TAX	2009	\$355.00	0.00	\$0.00	0.20	\$71.00
Salcedo, Nadya	LR	2009	\$355.00	0.00	\$0.00	158.30	\$56,196.50
Sapp, Jennifer	BFR	2009	\$355.00	0.00	\$0.00	0.20	\$71.00
Schermerhorn, Peter	CORP	2009	\$355.00	0.00	\$0.00	1.10	\$390.50
Seales, Jannelle M.	CORP	2009	\$415.00	0.00	\$0.00	5.50	\$2,282.50
Shen, Shu-Ping	TAX	2009	\$550.00	19.40	\$10,670.00	19.40	\$10,670.00
Speiser, Matthew M.	CORP	2009	\$355.00	0.00	\$0.00	46.00	\$16,330.00
Spritz, Matthew M.	LR	2009	\$355.00	0.00	\$0.00	256.00	\$90,880.00
Tran, Hongan N.	LR	2009	\$395.00 - \$455.00	153.60	\$61,638.00	363.80	\$144,667.00
Turner, Kim P.	LR	2009	\$355.00	0.00	\$0.00	15.70	\$5,573.50
Van Deurzen, Josh	CORP	2009	\$355.00 - \$455.00	0.00	\$0.00	279.20	\$100,036.00
Veit, Cheri	LR	2009	\$355.00	0.00	\$0.00	92.50	\$32,837.50
Vermynck, Alexandre (Paris Office)	LR	2009	\$275.00	0.00	\$0.00	23.00	\$6,325.00
Weitzner, Stephanie L.	LR	2009	\$415.00	0.00	\$0.00	1.00	\$415.00
Woodley, RaShawn	LR	2009	\$355.00	0.00	\$0.00	85.00	\$30,175.00
Wu, Edward	BFR	2009	\$395.00 - \$455.00	759.20	\$320,951.50	789.70	\$332,999.00
Yates, Erin K.	LR	2009	\$355.00 - \$455.00	3.30	\$1,501.50	282.00	\$112,870.00
Yung, Kevin	CORP	2009	\$355.00	0.00	\$0.00	58.40	\$20,732.00
Yunis, Benjamin H.	LR	2009	\$415.00	0.00	\$0.00	80.00	\$33,200.00
Brooks, Russell	BFR	2010	\$355.00 - \$455.00	316.10	\$139,753.25	3,092.60	\$1,255,952.50

NAME OF PROFESSIONAL PERSON	DEPARTMENT AND YEAR ADMITTED		Hourly Billing	-	nterim Period 10 – March 29, 2011)	Final Compensation Period (June 1, 2009 – Mach 29, 2011)	
ASSOCIATES:	Year of Obta to Praction	he Applicant, aining License ce, Area of ertise	Rate (including changes and class step-ups)	Total Billed Hours	Total Compensation \$	Total Billed Hours	Total Compensation \$
DeGeest, Oliver	CORP	2010	\$550.00	0.00	\$0.00	11.80	\$6,490.00
DeRousselle, Paul T.	LR	2010	\$395.00	27.90	\$11,020.50	27.90	\$11,020.50
Esposito, Michael J.	CORP	2010	\$355.00 - \$455.00	0.00	\$0.00	70.00	\$24,920.00
Hueske, Will A.	BFR	2010	\$395.00	47.40	\$18,723.00	47.40	\$18,723.00
Milligan, Peter M.	CORP	2010	\$395.00	0.00	\$0.00	4.80	\$1,896.00
Mullen, Richard	BFR	2010	\$395.00	108.60	\$42,442.75	108.60	\$42,442.75
Rosen, Chelsea	BFR	2010	\$395.00	20.40	\$8,058.00	338.90	\$133,865.50
Total Associates:				9,677.50	\$5,375,000.75	49,409.20	\$25,126,315.25

NAME OF PROFESSIONAL PERSON		DEPARTMENT AND YEAR ADMITTED <sup>1</sup>		Fifth Interim Period (October 1, 2010 – March 29, 2011)		Final Compensation Period (June 1, 2009 – Mach 29, 2011)	
LAW CLERKS:	Position of th Year of Obtain to Practice Expe	ining License e, Area of	Hourly Billing Rate (including changes)	Total Billed Hours	Total Compensation \$	Total Billed Hours	Total Compensation \$
Rosen, Chelsea	BFR	N/A	\$225.00	0.00	\$0.00	255.50	\$57,487.50
Carter, William J.(London Office)	BFR	N/A	\$280.00	0.00	\$0.00	11.90	\$3,332.00
Szoke, Judit (Budapest Office)	CORP	N/A	\$195.00	0.00	\$0.00	31.40	\$6,123.00
de Maussion, Jean-Baptiste (Paris Office)	BFR	N/A	\$175.00	0.00	\$0.00	7.00	\$1,225.00
Klemm, Mira (Paris Office)	BFR	N/A	\$175.00	0.00	\$0.00	62.70	\$10,972.50
Hannotin, Gabriel (Paris Office)	BFR	N/A	\$175.00	0.00	\$0.00	31.00	\$5,425.00
Menez, Benoit (Paris Office)	BFR	N/A	\$175.00	0.00	\$0.00	32.00	\$5,600.00
Scetbon, Benjamin (Paris Office)	BFR	N/A	\$180.00	0.00	\$0.00	10.00	\$1,800.00
Brogi, Alice (Paris Office)	BFR	N/A	\$180.00	0.00	\$0.00	111.50	\$20,070.00
Robineau, Marie (Paris Office)	LR	N/A	\$180.00	0.00	\$0.00	4.20	\$756.00
Rapp, Alexis (Paris Office)	LR	N/A	\$180.00	0.00	\$0.00	21.50	\$3,870.00
Wirtz, Sandy (Paris Office)	CORP	N/A	\$180.00	0.00	\$0.00	4.20	\$756.00
Levy, Victor (Paris Office)	BFR	N/A	\$180.00	0.00	\$0.00	48.20	\$8,676.00
Estellon, Erling (Paris Office)	LR	N/A	\$180.00	0.00	\$0.00	3.00	\$540.00
Ferguson, Daniel	CORP	N/A	\$180.00	4.90	\$882.00	4.90	\$882.00
Szymczak, Alexandra (Warsaw Office)	CORP	N/A	\$145.00 - \$155.00	0.00	\$0.00	24.10	\$3,653.50
Neskovic, Luwisha	CORP	1993	\$265.00 - \$280.00	0.00	\$0.00	59.30	\$15,966.50
Hasek, Alexander	CORP	1993	\$280.00	0.00	\$0.00	31.50	\$8,820.00

<sup>&</sup>lt;sup>1</sup> BFR- Business Finance & Restructuring, CORP - Corporate, LR - Litigation/Regulatory, TAX - Tax, S - Securitisation, LS - Litigation Support, \* Not yet admitted to the bar.

NAME OF PROFESSIONAL PERSON	DEPARTMENT AND YEAR ADMITTED <sup>1</sup>			Fifth Interim Period (October 1, 2010 – March 29, 2011)		Final Compensation Period (June 1, 2009 – Mach 29, 2011)	
LAW CLERKS:	Position of the Applicant, Year of Obtaining License to Practice, Area of Expertise	Hourly Billing Rate (including changes)	Total Billed Hours	Total Compensation \$	Total Billed Hours	Total Compensation \$	
Total Law Clerks:			4.90	\$882.00	753.90	\$155,955.00	

NAME OF PROFESSIONAL PERSON	DEPARTMENT AND YEAR ADMITTED <sup>2</sup>			nterim Period 010 – March 29, 2011)	Final Compensation Period (June 1, 2009 – Mach 29, 2011)	
SUMMER ASSOCIATES:	Position of the Applicant, Year of Obtaining License to Practice, Area of Expertise	Hourly Billing Rate (including changes)	Total Billed Hours	Total Compensation \$	Total Billed Hours	Total Compensation \$
Friedman, Jill M	SA – N/A	\$250.00	0.00	\$0.00	32.50	\$8,125.00
Bryk, Jordan	SA – N/A	\$250.00	0.00	\$0.00	53.10	\$13,275.00
Diaz, Ondrej Staviscak	SA – N/A	\$250.00	0.00	\$0.00	114.40	\$28,600.00
Gordon, Arielle	SA – N/A	\$250.00	0.00	\$0.00	29.30	\$7,325.00
Harp, Katherine	SA – N/A	\$250.00	0.00	\$0.00	31.90	\$7,975.00
Jacobson, Daniel	SA – N/A	\$250.00	0.00	\$0.00	43.90	\$10,975.00
Jia, Joanna	SA – N/A	\$250.00	0.00	\$0.00	11.50	\$2,875.00
Kyriacou, Stephen	SA – N/A	\$250.00	0.00	\$0.00	15.20	\$3,800.00
Lavine, Adam	SA – N/A	\$250.00	0.00	\$0.00	107.90	\$26,975.00
Linden, Christopher G.	SA – N/A	\$250.00	0.00	\$0.00	184.90	\$46,225.00
Martin, Daniel J.	SA – N/A	\$250.00	0.00	\$0.00	28.20	\$7,050.00
Pedone, Joanne	SA – N/A	\$250.00	0.00	\$0.00	10.40	\$2,600.00

\_

<sup>&</sup>lt;sup>2</sup> BFR- Business Finance & Restructuring, CORP - Corporate, LR - Litigation/Regulatory, TAX - Tax, S - Securitisation, LS - Litigation Support, \* Not yet admitted to the bar.

NAME OF PROFESSIONAL PERSON	DEPARTMENT AND YEAR ADMITTED <sup>2</sup>		Fifth Interim Period (October 1, 2010 – March 29, 2011)		Final Compensation Period (June 1, 2009 – Mach 29, 2011)	
SUMMER ASSOCIATES:	Position of the Applicant, Year of Obtaining License to Practice, Area of Expertise	Hourly Billing Rate (including changes)	Total Billed Hours	Total Compensation \$	Total Billed Hours	Total Compensation \$
Pierson, Lauren	SA – N/A	\$250.00	0.00	\$0.00	37.70	\$9,425.00
Rosenstock, Marisa B.	SA – N/A	\$250.00	0.00	\$0.00	18.90	\$4,725.00
Silverman, Cliff	SA – N/A	\$250.00	0.00	\$0.00	26.80	\$6,700.00
Simpson, Britt	SA – N/A	\$250.00	0.00	\$0.00	14.50	\$3,625.00
Total Summer Associates:			0.00	\$0.00	761.10	\$190,275.00

NAME OF PROFESSIONAL PERSON	DEPARTMENT AND YEAR ADMITTED		Fifth Interim Period (October 1, 2010 – March 29, 2011)		Final Compensation Period (June 1, 2009 – Mach 29, 2011)	
Paralegals and Other Non-Legal Staff:	Position of the Applicant, Year of Obtaining License to Practice, Area of Expertise	Hourly Billing Rate (including changes)	Total Billed Hours	Total Compensation \$	Total Billed Hours	Total Compensation \$
Burns, Jo N.	LR – N/A	\$280.00 - \$260.00	5.80	\$1,508.00	86.80	\$21,938.00
Lee, Kathleen	BFR – N/A	\$245.00 - \$275.00	83.60	\$15,881.25	577.90	\$137,910.00
Shrestha, Christine	CORP – N/A	\$245.00 - \$275.00	4.30	\$1,182.50	185.50	\$48,219.50
Stauble, Christopher A.	BFR – N/A	\$245.00 - \$275.00	0.00	\$0.00	63.20	\$15,604.00
Viola, Matthew	CORP – N/A	\$245.00 - \$275.00	5.00	\$1,375.00	46.40	\$11,734.00
Ellsworth, John A.	CORP – N/A	\$230.00 - \$260.00	0.00	\$0.00	204.20	\$47,371.00
Fuller, Deidre E.	LR - N/A	\$230.00 - \$260.00	55.50	\$14,430.00	135.30	\$34,524.00
Hausman, Jeffrie	LR - N/A	\$230.00 - \$260.00	0.00	\$0.00	506.20	\$114,211.00
Jones, Peggy	CORP – N/A	\$230.00 - \$260.00	387.30	\$100,698.00	784.90	\$193,673.00
O'Connor, Colin	CORP – N/A	\$230.00 - \$260.00	0.00	\$0.00	12.70	\$3,002.00
Cade, Nancy P.	LR – N/A	\$210.00 - \$250.00	71.00	\$17,750.00	269.00	\$66,798.00
Kerley, Peggy N.	LR - N/A	\$210.00 - \$250.00	0.00	\$0.00	314.60	\$67,775.00
Flinn, Deborah C.	LR - N/A	\$210.00 - \$240.00	26.10	\$6,264.00	83.50	\$19,017.00
George, Camille A.	LR – N/A	\$210.00 - \$240.00	0.00	\$0.00	673.00	\$142,974.00

NAME OF PROFESSIONAL	DEPARTMENT AND			nterim Period	Final Compen	
PERSON	YEAR ADMITTED	TT 1 D.	(October 1, 20	010 - March 29, 2011)	(June 1, 2009	- Mach 29, 2011)
Paralegals and Other Non-Legal Staff:	Position of the Applicant, Year of Obtaining License to Practice, Area of Expertise	Hourly Billing Rate (including changes)	Total Billed Hours	Total Compensation \$	Total Billed Hours	Total Compensation \$
Kimmel, Gregory	LR - N/A	\$210.00 - \$240.00	0.00	\$0.00	5.00	\$1,110.00
Oliva, Angela	LR - N/A	\$210.00 - \$240.00	0.80	\$192.00	2.80	\$612.00
Schell, Peter	CORP – N/A	\$205.00 - \$225.00	27.80	\$6,255.00	530.00	\$112,588.00
Maravilla, Mel C.	CORP – N/A	\$200.00 - \$250.00	78.20	\$19,550.00	262.20	\$60,077.50
Marquez, Francheska	CORP – N/A	\$200.00 - \$225.00	0.00	\$0.00	41.90	\$8,630.00
Suthar, Anh Nguyen	LR - N/A	\$200.00 - \$225.00	0.00	\$0.00	12.00	\$2,650.00
Bennett, Victoria A.	LR - N/A	\$195.00 - \$215.00	68.40	\$14,706.00	176.80	\$37,522.00
Chan, Herbert	LR - N/A	\$195.00 - \$215.00	0.00	\$0.00	151.00	\$29,629.00
Gordon, William H.	LR – N/A	\$195.00 - \$215.00	5.90	\$1,268.50	94.10	\$18,467.50
Guthrie, Christine	CORP – N/A	\$195.00 - \$215.00	0.00	\$0.00	25.50	\$5,092.50
Oh, Doe Y.	CORP – N/A	\$195.00 - \$215.00	134.70	\$28,960.50	408.60	\$82,529.00
Reid, Tashan Q.	CORP – N/A	\$195.00 - \$215.00	0.00	\$0.00	80.40	\$15,750.00
Amponsah, Duke	BFR – N/A	\$180.00 - \$200.00	4.00	\$800.00	18.50	\$3,496.00
Chettri, Anupama	LR - N/A	\$180.00 - \$200.00	35.50	\$7,100.00	77.90	\$15,362.00
Leonard, Sarah A.	LR - N/A	\$180.00 - \$200.00	0.00	\$0.00	4.70	\$920.00
Potter, Lougran	LR - N/A	\$180.00 - \$200.00	37.60	\$7,520.00	111.90	\$21,570.00
Prindle, Kaitlin C	BFR – N/A	\$180.00 - \$200.00	0.00	\$0.00	259.10	\$47,690.00
Rodriguez, Ilusion	BFR – N/A	\$180.00 - \$200.00	0.00	\$0.00	1,553.90	\$287,902.00
Castillero, Francene S.	LR - N/A	\$170.00 - \$190.00	0.00	\$0.00	59.40	\$10,171.50
Perkari, Harish	CORP – N/A	\$170.00 - \$190.00	0.00	\$0.00	289.80	\$50,080.00
Matiteyahu, Gillad	BFR – N/A	\$160.00 - \$215.00	0.00	\$0.00	5.20	\$925.50
Etienne, Donald	BFR – N/A	\$160.00 - \$180.00	4.90	\$882.00	107.10	\$17,213.00
Lynch, Michael R.	CORP – N/A	\$160.00 - \$180.00	0.00	\$0.00	14.80	\$2,378.00
Mehta, Mona V.	LR - N/A	\$160.00 - \$180.00	0.00	\$0.00	295.10	\$49,498.00
Stewart, LaSonya R.	LR – N/A	\$160.00 - \$180.00	305.30	\$54,954.00	566.50	\$101,468.00
Wilmer, Andrea	BFR – N/A	\$160.00 - \$180.00	21.50	\$3,780.00	158.50	\$24,860.00
Bauche, Ellen	Library – N/A	\$155.00 - \$170.00	0.00	\$0.00	2.70	\$436.50
Käppler, Markus (Frankfurt Office)	CORP – N/A	\$155.00 - \$170.00	0.00	\$0.00	7.50	\$1,222.50
Martorell, Jorge	LS – N/A	\$260.00	0.00	\$0.00	5.00	\$1,300.00
Moezzi, Michelle S.	CORP – N/A	\$260.00	1.90	\$494.00	1.90	\$494.00
Mills, Patrick G.	LR - N/A	\$255.00	0.00	\$0.00	29.90	\$7,624.50

NAME OF PROFESSIONAL	DEPARTMENT AND			nterim Period	Final Comper	
PERSON	YEAR ADMITTED	Hourly Billing	(October 1, 20	010 – March 29, 2011)	(June 1, 2009	– Mach 29, 2011)
Paralegals and Other Non-Legal Staff:	Position of the Applicant, Year of Obtaining License to Practice, Area of Expertise	Rate (including changes)	Total Billed Hours	Total Compensation \$	Total Billed Hours	Total Compensation \$
Inglis, Suzanne	LR – N/A	\$245.00	0.00	\$0.00	25.60	\$6,272.00
Petropoulos, Christine	LR - N/A	\$245.00	0.00	\$0.00	19.70	\$4,826.50
DeCoteau, Meshawn	LS – N/A	\$235.00	0.00	\$0.00	3.50	\$822.50
Eng-Bendel, Cheryl	LS – N/A	\$235.00	0.80	\$188.00	4.80	\$1,128.00
Sam, Mili	LS – N/A	\$235.00	0.00	\$0.00	75.40	\$17,719.00
Wu, Kim	LS – N/A	\$235.00	0.00	\$0.00	6.50	\$1,527.50
Yoda, Kristine	LS – N/A	\$235.00	0.00	\$0.00	7.00	\$1,645.00
Bartram, Lyle S.	BFR – N/A	\$230.00	0.20	\$46.00	2.30	\$529.00
Hoilett, Leason	LR - N/A	\$230.00	0.00	\$0.00	9.40	\$2,162.00
Ko, Jae	LR - N/A	\$230.00	0.00	\$0.00	19.20	\$4,416.00
Roberts, Sarah B.	BFR – N/A	\$230.00	766.60	\$152,524.50	1,407.80	\$277,207.50
Shiroma, Lance Y.	CORP – N/A	\$230.00	0.00	\$0.00	66.90	\$15,387.00
Washington, Yvonne	LR - N/A	\$230.00	0.00	\$0.00	2.20	\$506.00
Decker, Daniel	LR – N/A	\$225.00	24.90	\$5,602.50	24.90	\$5,602.50
Melson, Elizabeth E.	LR - N/A	\$225.00	54.50	\$12,262.50	109.70	\$24,682.50
Sykes, Jeremy A.	LR - N/A	\$225.00	3.00	\$675.00	3.00	\$675.00
Priore, Joann	Fiduciary Accounting	\$220.00	0.00	\$0.00	3.90	\$858.00
Schwartz, Bonnie Fox	Library – N/A	\$220.00	0.00	\$0.00	1.10	\$242.00
Bollen, MaryAnne	LS – N/A	\$215.00	0.00	\$0.00	8.30	\$1,784.50
Larangeira, Scott	LS – N/A	\$215.00	0.00	\$0.00	3.10	\$666.50
Nudelman, Peter	LS – N/A	\$215.00	0.00	\$0.00	70.30	\$15,114.50
Quarry, Michael	LS – N/A	\$215.00	0.30	\$64.50	35.30	\$7,589.50
Robin, Artur	LS – N/A	\$215.00	0.00	\$0.00	24.60	\$5,289.00
Scopas, George	LS – N/A	\$215.00	0.00	\$0.00	2.00	\$430.00
Aliseo, Nicole K.	BFR – N/A	\$210.00	60.30	\$9,408.00	271.60	\$45,815.50
Frayle, Barbara	CORP – N/A	\$210.00	0.00	\$0.00	9.90	\$2,079.00
Haiken, Lauren C.	LS - N/A	\$210.00	0.00	\$0.00	9.00	\$1,890.00
Joffrion, Karen A	CORP – N/A	\$210.00	0.00	\$0.00	6.90	\$1,449.00
McCray, Crystal	LR - N/A	\$210.00	0.00	\$0.00	4.50	\$945.00
Phillips, Lesley	LR - N/A	\$210.00	0.00	\$0.00	99.10	\$20,811.00
Quinn, Gayle	CORP – N/A	\$210.00	0.00	\$0.00	24.30	\$5,103.00

NAME OF PROFESSIONAL	DEPARTMENT AND		Fifth I	nterim Period	Final Compen	
PERSON	YEAR ADMITTED		(October 1, 20	010 – March 29, 2011)	(June 1, 2009	– Mach 29, 2011)
Paralegals and Other Non-Legal Staff:	Position of the Applicant, Year of Obtaining License to Practice, Area of Expertise	Hourly Billing Rate (including changes)	Total Billed Hours	Total Compensation \$	Total Billed Hours	Total Compensation \$
Siebel, Peter A.	BFR – N/A	\$210.00	0.00	\$0.00	238.30	\$50,043.00
Romero, Jorge A.	LS – N/A	\$205.00	0.00	\$0.00	2.70	\$553.50
Jackson, Michael	LR - N/A	\$200.00	0.00	\$0.00	6.20	\$1,240.00
Mukendi, Julie B.	LR - N/A	\$200.00	0.00	\$0.00	12.50	\$2,500.00
Sawyer, Jayme R	LR - N/A	\$200.00	0.00	\$0.00	1.60	\$320.00
Barahona, Philip	Library – N/A	\$195.00	0.20	\$39.00	3.10	\$604.50
Espitia, Sadys Rodrigo	Library – N/A	\$195.00	1.40	\$273.00	1.40	\$273.00
Fredrick, Frances	Library – N/A	\$195.00	0.00	\$0.00	3.70	\$721.50
Hwang, Edith	Library – N/A	\$195.00	0.00	\$0.00	5.00	\$975.00
Losick, Merill	Library – N/A	\$195.00	1.10	\$214.50	6.40	\$1,248.00
McLaughlin, Daniel F.	Library – N/A	\$195.00	0.80	\$156.00	10.10	\$1,969.50
Bell, Andrew	LS – N/A	\$190.00	0.00	\$0.00	10.30	\$1,957.00
Benjamin, Justin	LS – N/A	\$190.00	0.00	\$0.00	1.50	\$285.00
Boehmfeldt, Martina (Frankfurt Office)	CORP – N/A	\$190.00	0.00	\$0.00	1.00	\$190.00
Hsu, Joseph	CORP – N/A	\$190.00	7.40	\$1,406.00	7.40	\$1,406.00
Malkovich, Yovanka	LR - N/A	\$190.00	0.00	\$0.00	187.20	\$35,568.00
Condon, Robert	LR - N/A	\$185.00	13.30	\$2,460.50	31.80	\$5,883.00
Payne, Richard A.	LR - N/A	\$185.00	0.00	\$0.00	70.50	\$13,042.50
Chan, Bill Kam	CORP – N/A	\$180.00	0.00	\$0.00	47.50	\$8,550.00
Devaney, Sean P.	CORP – N/A	\$180.00	0.00	\$0.00	326.00	\$58,680.00
Fan, Dannan	LS – N/A	\$180.00	0.20	\$36.00	2.70	\$486.00
Fleming, Bryan C.	LR - N/A	\$180.00	0.00	\$0.00	8.60	\$1,548.00
Fortune, Shelley J.	LR - N/A	\$180.00	0.00	\$0.00	7.50	\$1,350.00
Koul, Yashomati B.	BFR – N/A	\$180.00	0.00	\$0.00	30.30	\$5,454.00
Walker, Christopher L.	LR - N/A	\$180.00	0.00	\$0.00	3.80	\$684.00
Bailey, Gregory	Managing Clerk - N/A	\$170.00	18.90	\$3,213.00	119.20	\$20,264.00
Carney, Michael	Library – N/A	\$170.00	0.00	\$0.00	1.30	\$221.00
Joseph, Christine	LR - N/A	\$170.00	0.00	\$0.00	19.00	\$3,230.00
Maurissaint, Walden	LR - N/A	\$170.00	0.00	\$0.00	19.70	\$3,349.00
Moffitt, Andrea Nicole	CORP – N/A	\$170.00	0.00	\$0.00	165.60	\$28,152.00
Ribaudo, Mark	Managing Clerk – N/A	\$170.00	6.10	\$1,037.00	34.20	\$5,814.00

NAME OF PROFESSIONAL	DEPARTMENT AND YEAR ADMITTED		Fifth Interim Period (October 1, 2010 – March 29, 2011)		Final Compensation Period (June 1, 2009 – Mach 29, 2011)	
PERSON						
Paralegals and Other Non-Legal Staff:	Position of the Applicant, Year of Obtaining License to Practice, Area of Expertise	Hourly Billing Rate (including changes)	Total Billed Hours	Total Compensation \$	Total Billed Hours	Total Compensation \$
Rudman, Inna	CORP – N/A	\$170.00	0.00	\$0.00	4.60	\$782.00
Adler, Jonathan H.	CORP – N/A	\$160.00	0.00	\$0.00	23.20	\$3,712.00
Axon, Hillary A.	LR - N/A	\$160.00	0.00	\$0.00	5.60	\$896.00
Badman, John	CORP – N/A	\$160.00	3.20	\$512.00	9.90	\$1,584.00
Burke, Catherine D.	LR - N/A	\$160.00	0.00	\$0.00	3.60	\$576.00
Choi, Jessica	LR - N/A	\$160.00	0.00	\$0.00	50.40	\$7,424.00
Chung, Candace	CORP – N/A	\$160.00	0.00	\$0.00	13.20	\$2,112.00
Cluzel, Antoine	CORP – N/A	\$160.00	0.00	\$0.00	9.50	\$1,520.00
Collier, Amanda B.	CORP – N/A	\$160.00	0.00	\$0.00	17.60	\$2,816.00
Ghodasara, Priya K.	BFR – N/A	\$160.00	10.50	\$1,680.00	12.40	\$1,984.00
Grossman, Genna D.	CORP – N/A	\$160.00	0.00	\$0.00	29.70	\$4,752.00
Kim, Andrew	LR - N/A	\$160.00	0.00	\$0.00	49.90	\$7,984.00
Lyon, Andrew H.	BFR – N/A	\$160.00	3.20	\$512.00	3.20	\$512.00
McGrath, Caitlin M.	LR - N/A	\$160.00	0.00	\$0.00	62.10	\$9,936.00
Mitrayon, Michael	LR - N/A	\$160.00	0.00	\$0.00	27.70	\$4,432.00
Morrissey, Halley C.	LR - N/A	\$160.00	0.00	\$0.00	7.80	\$1,248.00
Pande, Trisha	LR - N/A	\$160.00	4.20	\$672.00	4.20	\$672.00
Park, Jiwon	LR - N/A	\$160.00	0.00	\$0.00	14.60	\$2,336.00
Prado Filho, Jose Luiz	LR - N/A	\$160.00	0.00	\$0.00	13.30	\$2,128.00
Quinn, Timothy F.	LR - N/A	\$160.00	0.00	\$0.00	30.10	\$4,816.00
Ruoss, Andrew	LR - N/A	\$160.00	0.00	\$0.00	0.80	\$128.00
Schiffman, Stephanie A.	LR - N/A	\$160.00	0.00	\$0.00	16.50	\$2,640.00
Schleicher, Aaron M.	LR - N/A	\$160.00	0.00	\$0.00	3.50	\$560.00
Schoenfeld, Matthew	BFR – N/A	\$160.00	0.00	\$0.00	117.90	\$18,864.00
Shapiro, Rachel	BFR - N/A	\$160.00	26.10	\$3,256.00	328.70	\$51,672.00
Steigerwald, Katharine L.	CORP – N/A	\$160.00	0.00	\$0.00	12.60	\$2,016.00
Swaney, Nicole	LR - N/A	\$160.00	0.00	\$0.00	13.40	\$2,144.00
Tily, Michael T.	CORP – N/A	\$160.00	0.00	\$0.00	56.80	\$9,088.00
Topaz, Richard H.	CORP – N/A	\$160.00	0.00	\$0.00	39.00	\$6,240.00
Van Kampen, Allison L.	LR – N/A	\$160.00	0.00	\$0.00	4.20	\$672.00
Ventura, Carol	LR - N/A	\$160.00	0.00	\$0.00	61.90	\$9,904.00

NAME OF PROFESSIONAL	DEPARTMENT AND	Hourly Billing	Fifth Interim Period		Final Compensation Period	
PERSON	YEAR ADMITTED		(October 1, 20	010 – March 29, 2011)	(June 1, 2009 – Mach 29, 2011)	
Paralegals and Other Non-Legal Staff:	Position of the Applicant, Year of Obtaining License to Practice, Area of Expertise	Rate (including changes)	Total Billed Hours	Total Compensation \$	Total Billed Hours	Total Compensation \$
Werner, Zach M	LR – N/A	\$160.00	0.00	\$0.00	6.70	\$1,072.00
Dixon, Timothy Manners	CORP – N/A	\$150.00	0.00	\$0.00	6.20	\$930.00
Irvine, Barry John (Budapest Office)	CORP – N/A	\$150.00	0.00	\$0.00	3.90	\$585.00
Lucevic, Almir	Managing Clerk – N/A	\$150.00	1.60	\$240.00	8.20	\$1,230.00
Miller, Ryan A.	Managing Clerk – N/A	\$150.00	22.10	\$3,315.00	22.10	\$3,315.00
Carmant, Marie J.	Library – N/A	\$145.00	0.30	\$43.50	6.70	\$971.50
Gaudio, Laura A.	Library – N/A	\$145.00	4.10	\$594.50	10.50	\$1,522.50
Pugh, Daniela M.	Library – N/A	\$145.00	0.20	\$29.00	0.40	\$58.00
Burdette, Leslie A.	Managing Clerk - N/A	\$140.00	1.20	\$168.00	207.20	\$29,008.00
Pasion, Luis L.	Managing Clerk – N/A	\$140.00	0.00	\$0.00	57.50	\$8,050.00
Cruz, Luis	Library – N/A	\$135.00	0.00	\$0.00	9.20	\$1,242.00
Bettini, Elio	Library – N/A	\$125.00	0.30	\$37.50	10.70	\$1,337.50
Pancham, Brenda	Library – N/A	\$100.00	0.00	\$0.00	0.80	\$80.00
Augustowska, Anna (Warsaw Office)	Support Staff – N/A	\$95.00 - \$105.00	0.00	\$0.00	1.20	\$124.00
Dhanaraj, Ramesh	BFR – N/A	\$95.00	0.00	\$0.00	24.50	\$2,327.50
Dietrich, Michael	LS – N/A	\$95.00	0.00	\$0.00	0.20	\$19.00
Sully, Dawil R.	BFR – N/A	\$95.00	0.00	\$0.00	69.60	\$6,612.00
Swindells, Christian (Warsaw Office)	Support Staff – N/A	\$95.00 - \$105.00	0.00	\$0.00	1.00	\$99.00
Grover, Jacob A.	LR – N/A	\$87.50	2.00	\$175.00	2.00	\$175.00
Greco, Maximiliano	Library – N/A	\$85.00	0.00	\$0.00	8.90	\$756.50
Prudhomme, Cheryl	Library – N/A	\$75.00	0.00	\$0.00	2.50	\$187.50
Total Paralegals,and Other Non- Legal Staff:			2,404.10	\$506,391.25	14,558.70	\$2,901,607.50

## TOTALS:

	Fifth Interim Period (October 1, 2010 – March 29, 2011)			Final Compensation Period (June 1, 2009 – March 29, 2011)			
Total Professionals:	Blended Rate	Total Billed Hours	Total Compensation \$	Blended Rate \$	Total Billed Hours	Total Compensation \$	
Partners and Counsels	\$829.10	4,012.30	\$3,323,581.50	\$831.47	20,284.70	\$16,866,208.50	
Associates	\$555.41	9,677.50	\$5,375,000.75	\$508.54	49,409.20	\$25,126,315.25	
Law Clerks	\$180.00	4.90	\$882.00	\$206.86	753.90	\$155,955.00	
Summer Associates		0.00	\$0.00	\$250.00	761.10	\$190,275.00	
Paraprofessionals and Other Non- Legal Staff	\$210.64	2,404.10	\$506,391.25	\$199.30	14,558.70	\$2,901,607.50	
Attorney Blended Rate	\$635.41	_		\$602.53			
Grand Total:¶		16,098.80	\$9,205,855.50		85,767.60	\$45,240,361.25	